Environmental Product Declaration

H;iE.F |:||:|)=l=I = A
%**%*5}' 1ISO14025%

&)BAOWU £ K & i

o a8 #ELfTILEPDF A www.cisa-epd.com
EPDi¥fi4RS  CISA-EPD-BWZY-20220028

EPD#F & & FEREBRESWH WIKET

X % B HB 2023-01-11

HE8MHE E 2025-12-30

<

iMeAiTIWEPD¥S



&) BAOWU X R %3 <©

EkTIWEPDES

B3 |CONTENTS

] wars 01 7w 04
: 1000kg#x45#
| e PR
72 23R o 1000kgkHEH
| BT R PR BRI ISR
1000kgEX¥5 47
o e FRE RIS RIEAR
3 miER 02 1000kg K%
P BRI B ISR
SR EF MR ESEEER
4 =R 02
ST ERER 8 Hith FRIRIE IR 06
BEAURIR |
RIAER
- B 035 BA 06
5 =ammwmER 03 9 L
=
6 zE=8 04 10 zz=x 06

KIS mBIRLE



&) BAOWU X R %3 <&

MEL{TILEPDES
BV e

MEKITWEPDESR
www.cisa-epd.com

FaEMm

FEmRAPZEHINI(PCR)  PCR 2022:02 XA IEAT A UNCPC 141 GB/T 20565-2022 FRZA1.0

PCREZE BAZERS HBf8 EPD@chinaisa.org.cn
Mg ERATEEEA
TR SRy WK ES ZHEANTHEBEREE

#21S014025: 20063y 7= BAF0 &4 8998 37 3630F 7 EPDIGIE S BN TG

KAEHA hEMREFHRSINEERAS CCS AUE2 T
el CER TIFICATION
INTHAE: PEEEEEERIATZAR

EMS:CNAS C005-P

RS $MekfTI EPD F4&
GPIhEMMEPDE R NMNIRHER, B IrE 2 VS

EPDIFBEXEPDRABH—NABEN. RENNS., BTE—TmipLEREAREFANEPDIIREREB MK,

B 2

ZEONKET WERREAT2010F6 B, BRESH22{27T, A#12898, RITHARMIES00At/a, EBEFHEH (3K
ER) . By REREN, RBRETVANE—WEY, MAITFe31.27%, ZiEy 1 TEFTFe65%0ISAEE 1705t = R 24
200/5t, kAR 5000t/ aFETRRB 24 “861" TENHRIINE, 2012E28FITEIE, 2015FE8ALRAEREINE, 20165FE434#
NREFT, 2016F12H@BE R "ZRN RiK, 2017F28 SR EEFFNEERRT,

~ g
2 aadii ANE




A BAOWU £ 5B <

EkTIWEPDES

Q

KET RHAREF 25, ATRE—RE. OHEFE—5H, RBRPERERSL "1000" (R2F—. EZAT. BEA
T BWAT) MR "TFN" (BFE. AFREK. BART) TEER, SIFK. BREE, KERE&KEWL. IAK.
LN, THHTBENEEBNEHLEAZY, S £ SN MTEEE L. BRSEKERMEF, IRFEIRE. &’
#. RERLe "=ir—k" , RERESERARANE BRTU "SHETRE. TEAX. LRV E AXERNRHIRLES
H#E, BIETLL "RBERT. BRhEE. TldiiE. 2R BAR" ARRNEEY LR,

017FEFREREM GBI " ek, ERBASYT W "TE T RS; 2018FERRREEBHBEARN, KET 66%
B RRANLM R, 2019F1 A TR UEELLBHXBREAF RN ERRFEASY WRFRAR TSR, 2019F
RABEANEER "FEH 11", 2021FE8ARKIFLHEAAMBGAB, RMBRLHBRT RERESHEERETREHFRPL, #
—HRA TN RERR RN, 2021 F4EF~H5AE0 164.920 1,5 13.425 1, #H204.834 0, SCIEWA22141Z7T, FiE
RBEN0.4127T, BIKLEES.25127T.

s, B

1. KRR

(1) SKERBT mL66%ANE, BTFEMN. ERTREMHYT; Fe:0.88%, BTHEET; SI0.288, ALOBEE;
BFSHEEYT, BEETRa 298K,

(2) KIEATE, KERBYHERM, -200BRRE94.7%, STRHERERE. NMEARSREBUEYT, BTREREE”
FRWRIFIN., TREHIREEE,

(3) AR EREET"LHELE: BMKERY, REETER, AAER. REVEHRBENER LF, BRRESHT
B, REVUERASPENE, TEAUERET KRUIRES, BETRA=YRRK.

(4) kERT BEES%. KB, REEAROMNS, NRERY +28F., HerEl. ERERIOHT REESREL LB
% JBEHOMT TREKEMEN R, KEBT BEAS SRR DN 865 SRR RBITERY R,

2.8

TFe RIX32%EH, —EHERERS, —SHESERAEFENEERKE, PENRIERY, BESFIRGT, RS
EERTEFREREER,

3.8RE

FEER30~75mmAAEM =&, THENEMEBEITRINT, SWEEFALHEEM R, BFERMTL., miR1-2 (A7) .
Rm1-3 (BF) . Am0.5 (JRFR) . aWErm, IR THREBBRABIEER, SRz aM RSN FREBEE,

4, SN

‘oI ZHiEE
73k -
KA bz
‘e R FARIR

R RS RRFTERKST . R, STEM, BIRE. RESHE S THFERRAL

02



&)BAOWU £ K & iF

‘o REHEH

<

EkTIWEPDES

KEMZRERFEENEOHCEERNEAL. EBNTRAT.

zWE (M)

_iz (28)

KEEH (AR)

Bz (BE)

M 249100 10
M2 627700 16
=3 153500 575
=4 153600 570
=5 55900 385
M6 249400 280
=7 137200 581
M8 82230 10

- 750 =

BY iommenes [

FEAEAI: 1000kg TFeM A 66 %M HIEH 7= &
B Rl Rtk
R EE:
S HARENRYE: RARLCAZPrO
LCIAMER I A& : CML v4.8 § IPCC2021
REE:

AT
ARG RETNIRS eV MIRGE
A R
TRE A A TR
RS, EEHR | B7ER

g MRKER MTAKER  THER

RPDRHEIR:
ETRREAHEIFNESKE,
AAANNESABENER: THIE

“KIMEIKTY 9EF SRR 2N DN WK FT £ B Tt EEXENIIFEHIE (20214F)
"EBEFRFP K] ESEIESIHTjimulCA 1.0, ecoinvent 3.8 E

AP

VSRR S

A1z a5 A
1) R=X

2) Htip=ia
3) B E=E
IKEIRF A

1) A7 LLHEK
2) R iRk

HFRERF A
RINERF A

s
1) BETYMT
2) W FIA

=Y
1) BE#EER
2) #ECMmI

BH

BY &%

HERS

WK BRARFR, S3fE. & S1F, WART B REEY ™R, 8fERsRRzAZAF, BEte

03



&) BAOWU X R %3 <&

EkTIWEPDES

BEZER:

(1) BEREN: ERNIERALIINH, FEREMBHALIIE, BEARENTHREASERE 1%NREBMATRE,;, XK. K
FREFEBINGIE, NFEREFVHREE 1% —REEREFN R, BES5 BNEMRE. STFHNRE. T KR
ARREFREFSEENHAI TR, RSENAEHATESEEYR, TOESEENVMRNIYRYNEAETERD,; RET
BRENIHRE, FMBIRE. HERTEHRN5%.,

(2) HEEN: RIFFEPCRANX A RA /BT RTINS ABE NS N FERZHIE SX L FIREXNRELIE,
OB R AE., WA AT NEES N FEZETREEXREHIE, NELERAYESEERMTHER, NTREEX. MLAE
BMELSEL, NEEXBRAY BA, IREHEFQNIGEAR, RNEASEATRNTERE.

o, BN
OHBEMIHNEHEEN66%, HENKBEMRSNTE:

RAEH EHLHREHH(%) [ casnumber [
2% 66 7439-89-6
= 3.73 7440-21-3

‘o BRI mEVRLERER :

ME/NFH2008 (RIENF
0.074mmBEREE %)

% 93.5

V7, B

‘e 1000kg &k ¥E ¥ 7~ @ & oo A HE R I T4 FE 4

B 3 SRS ait

AR kg CO,eq. 7.228E+01 5.451E+00 7.773E+01
DIRTIEE S YR kg CO,eq. 1.794E-01 0.000E+00 1.794E-01
(GWP100) Tt F) AN L i R 3 kg CO,eq. 2.495E-02 0.000E+00 2.495E-02

ait kg CO,eq. 7.249E+01 5.451E+00 7.794E+01
BRI ET1(AP) kg S0,eq. 2.845E-01 0.000E+00 2.845E-01
EEFWLEN(EP) kg PO43"eq. 2.958E-01 0.000E+00 2.958E-01
SREREEME S (POCP) kg C,Ha4eq. 1.259E-02 0.000E+00 1.259E-02
FEEMEREFRFEIEES (ADP) - T = kg Sb eq. 1.216E-03 3.720E-05 1.253E-03
FEEMERFERE S (ADP) - LA M|, ERE 9.774E+02 6.332E+01 1.041E+03
FERERSEEHEERESN (ODP) kgCFC11eq. 5.200E-06 0.000E+00 5.200E-06

04



&) BAOWU X R %3 <&

EkTIWEPDES

‘® 1000kg &K ¥HE M E F P U BB IR I IFMNER

=R

o o
cwEeo) iiﬂz%]ﬁ*ﬂiﬂﬁﬁii@&ﬂ% kz cojeZ: 3:835E—02

Bt kg CO»eq. 4.198E+01
BEETI(AP) Kg S0,eq. 1.530E-01
BEEFNEBN(EP) kg PO43-eq. 1.571E-01
XNRBRELEME(POCP) kg CoHqeq. 4.512E-03
EEMRRRIFFEBES (ADP) - TR kg Sb eq. 6.140E-05
FEEMERFREIBES (ADP) - (LAERK M, BHE 6.115E+02
TREREZHEERSN (ODP) kgCFC11eq. 0.000E+00

‘® 1000kg k543 R IRE A B L IE 4R

B il B RIS &it
RESE-TIE BiEgEERE MJ, A 1.450E+02 0.000E+00 1.450E+02
HBEYE RR{E R ¥ M), #RiE 0.000E+00 0.000E+00 0.000E+00
ait M), EHRE 1.450E+02 0.000E+00 1.450E+02
— IR BETR-AT] B{EREERA M, BE#HRE 1.035E+03 6.715E+01 1.102E+03
BERER BEEM R M), ERE 0.000E+00 0.000E+00 0.000E+00
‘it M), EHE 1.035E+03 6.715E+01 1.102E+03
T4 T R M), MEiE 0.000E+00 0.000E+00 0.000E+00
AROTHEE IR MJ, A 0.000E+00 0.000E+00 0.000E+00
HoxkE= m3 3.856E-01 0.000E+00 3.856E-01

‘® 1000kg sk ¥ EHIEHR IR F ML B ISR

ERERERY kg 2.672E-02
TREEREFY kg 1.482E+03
T ER R FY kg 0.000E+00

‘oHEBMEFNEMESEBERBR
HEKEZY mg/L 0

ElRGEFIHE % 45.48
05




&)BAOWU £ K & iF

s, G

x

BN wimiie [

‘o=
BXREIENITE, BESE BT EPDIFEHIPCRAIGPI,

HXABAREHIPCRAGPIES, AEPDAMHEES Hb T S EPDEIEARE LA,

10, Meailll]

- NESTWEPDE AR (FEERMN (GPI) ) 1.0
o WEATWEPDIESH (FFRFMEHMN (PCR) ) 2022:02 KAFIM T &Y & 1.05R

<©

MELITIWEPDTES

+ 1SO 14025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and procedures

+ 1S014040:2006+A1:2020 Environmental management — Life cycle assessment — Principles and framework

« 1S014044:2006+A1:2018+A2:2020 Environmental management — Life cycle assessment — requirements and guidelines

+ 1S014067:2018 Greenhouse gases - Carbon footprint of products - Requirements and guidelines for quantification

06



SO MTUEPDTARE | FAKER
i ol RNEFSRRRIED. PRI,

GWP 100 717.9ukg cO- -e q/t© FALRTNE REEENMMiLZEZSEA

<

iNexiTIWEPDIS
www.cCisa-epd.com
BR55#44%:021-96169



